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QUESTION 1

Three parameters play a role for a printing function and for every parameter there are two equivalence classes to be
tested:

font color: hlack \color

fortsize: |10 112

| | font | font color | font size
|1 arial | black | 10

| 2 | arial | color | 12

| 3 | verdana | black | 12

L & | | |

Which combination is missing in the table if the coverage type pairwise testing is applied?
A. arial color 10

B. arial black 12

C. verdana color 10

D. verdana black 10

Correct Answer: C

QUESTION 2
See the decision and test situations below:

R=(AANDB)ORC

1 A=false |B=true |C=false !
2 A=false |B=false 'Ctrue |
3 A=true [B=true |C:false|

Which test situation is missing if the coverage type decision points modified condition/decision coverage is used?
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!A=true B=true |C=truei

A

o |:5«=true B=false iC=false|

A. Option A
B. Option B

Correct Answer: B

QUESTION 3

Under which circumstance can Exploratory Testing be used effectively?

A. when experienced testers with domain knowledge are available

B. when testing must be as brief as possible on the critical path of the project

C. when critical functionality, failure of which can cause severe damage, must be tested

Correct Answer: A

QUESTION 4

For the creation of the central starting point there are several techniques. In the given situation it is necessary that
consistency between the data entered is guaranteed. Which of the techniques below is preferable if only one technique
may be used?

A. use of production data

B. entering through separate front-end software

C. entering through regular system functions

Correct Answer: C

QUESTION 5

During which TMap phase is testing \\'"dynamic implicit\\'?
A. Specification

B. Execution

C. Preparation

Correct Answer: B

EX0-113 Practice Test | EX0-113 Exam Questions | EX0-113 Braindumps 3/4


https://www.pass2lead.com/ex0-113.html
https://www.pass2lead.com/ex0-113.html
https://www.pass2lead.com/ex0-113.html

P 2L d https://lwww.pass2lead.com/ex0-113.html
ass ea 2024 Latest pass2lead EX0-113 PDF and VCE dumps Download

—— https://Pass2Lead.com

EX0-113 Practice Test EX0-113 Exam Questions EX0-113 Braindumps

EX0-113 Practice Test | EX0-113 Exam Questions | EX0-113 Braindumps 4/4


https://www.pass2lead.com/ex0-113.html
https://www.pass2lead.com/ex0-113.html
https://www.pass2lead.com/ex0-113.html
http://www.tcpdf.org
https://www.pass2lead.com/ex0-113.html
https://www.pass2lead.com/ex0-113.html
https://www.pass2lead.com/ex0-113.html

